

Intelligent Core® s

Geiste u. Intelligenzen

Bedingungen f. Vorhandenseins

Grundformeln

$$\text{I.-1)} \quad \forall u: \underbrace{(\text{ruht}(u) \wedge \text{informiert}(u))}_{\text{Gleichanteil}} \vee \underbrace{(\text{bewegt}(u) \wedge \text{ändernd informiert}(u))}_{\text{Änderungsanteil}} \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$
$$\text{Gesamtanteil} = \text{Gleichanteil} \vee \text{Änderungsanteil} = \text{Gleichanteil} \vee \underbrace{\text{Änderungsanteil}}_{\text{Überlagerungsanteil}}$$

$$\forall u: ((\text{ruht}(u) \wedge \text{informiert}(u)) \vee \text{bewegt}(u)) \wedge ((\text{ruht}(u) \wedge \text{informiert}(u)) \vee \text{ändernd informiert}(u)) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\forall u: ((\text{ruht}(u) \vee \text{bewegt}(u)) \wedge (\text{informiert}(u) \vee \text{bewegt}(u))) \wedge ((\text{ruht}(u) \vee \text{ändernd informiert}(u)) \wedge (\text{informiert}(u) \vee \text{ändernd informiert}(u))) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\forall u: (1 \wedge (\text{informiert}(u) \vee \text{bewegt}(u))) \wedge ((\text{ruht}(u) \vee \text{ändernd informiert}(u)) \wedge 1) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\text{I.-2)} \quad \forall u: \underbrace{(\text{bewegt}(u) \vee \text{informiert}(u))}_{\text{Änderungsanteil} \vee \text{Gleichanteil}} \wedge \underbrace{(\text{ruht}(u) \vee \text{ändernd informiert}(u))}_{\text{Gleichanteil} \vee \text{Änderungsanteil}} \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$
$$\text{Gesamtanteil} = \text{Gleichanteil} \vee \text{Änderungsanteil} = \text{Gleichanteil} \vee \underbrace{\text{Änderungsanteil}}_{\text{Überlagerungsanteil}}$$

$$\forall u: ((\text{bewegt}(u) \vee \text{informiert}(u)) \wedge \text{ruht}(u)) \vee ((\text{bewegt}(u) \vee \text{informiert}(u)) \wedge \text{ändernd informiert}(u)) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\forall u: ((\text{ruht}(u) \wedge \text{bewegt}(u)) \vee (\text{informiert}(u) \wedge \text{ruht}(u))) \vee ((\text{bewegt}(u) \wedge \text{ändernd informiert}(u)) \vee (\text{informiert}(u) \wedge \text{ändernd informiert}(u))) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\forall u: (0 \vee (\text{informiert}(u) \wedge \text{ruht}(u))) \vee ((\text{bewegt}(u) \wedge \text{ändernd informiert}(u)) \vee 0) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

$$\text{I.-3)} = \text{I.-1)} \quad \forall u: (\text{ruht}(u) \wedge \text{informiert}(u)) \vee (\text{bewegt}(u) \wedge \text{ändernd informiert}(u)) \Leftrightarrow \text{Geist}(u) \Leftrightarrow \text{Intelligenz}(u)$$

...